GSP Expert .32 2064259

L 052664259
266 42 59

% E:l"—..é’ﬂGH xper .32 GSP

A2

Index: f Seite 1 von 2



GSP Expert .32 2064259
Flt(;esn.qN#ﬁ. Arzf(lretlﬁ\lr. Benennung Designation PG
1 2668866 Griff kpl. MB Grip, complete, MB J2
1 2771403 Griff kpl. MB Metallgrau Grip, complete, MB grey J2
2 2668629 Verschlussgehause kpl.oW Bolt Housing S2
3 2654831 Einlage Insert G
4 2764491 Verschlussstiick kpl. .32 MB Bolt, complete, MB, .32 I.r. K2
6 2664496 Lauf kpl. MB Barrel, complete, .32 I.r. Y1
7 2660041 Laufgewicht kpl. Barrel Weight, complete N1
8 2659794 Stift Pin A
9 2659824 Schraube M10x1 Screw M10x1 F
10 2650231 Steckkerbstift D=2,5x12 Serrated Pin @ 2.5x12 A
11 2297302 Druckfeder Spring, Compression A
13 2608014 Korn B=4,2 H=8,6 Front Sight W=4.1 H=8.6 Y
14 2249561 Féacherscheibe Serrated Washer A
15 2457661 Gewindeform Schraube M3x7 Screw A
16 2481782 Gewindestift M4x6 Setscrew M4x6 A
19 2668556 Griffschale SH M RE Grip, SH, M, right Cc2
19 2668564 Griffschale SH S RE Grip, SH, S, right Cc2
19 2668572 Griffschale SH L RE Grip, SH. L, right Cc2
19 2668548 Griffschale SH M LI Grip, SH, M, left E2
20 2472198 Lagerstiick Adapter U
21 2140381 Scheibe Disc A
22 2431394 Zyl.-Schraube M5x35 Cylinder Head Screw M5x35 A
26 2658640 Magazin .32 S&W blau Magazine .32 blue Z
27 2658542 Magazinboden blau Magazine Butt Plate L
30 2662213 Zusatzdampfer Additional Weight, complete z
31 2271508 Zyl.-Schraube M4x20 Cylinder Head Screw M4x20 A
Index: f Seite 2 von 2




